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Aside from a woman, for a woman is not acquired with °5°°n

OVERVIEW

"WX 27 concluded (that X271 meant to say) that a 2177 n"v minn is always
effective (by 2"775 ,70n and 7217N0) except by w17°p because a woman
cannot be acquired with 12°%1. A cursory reading would indicate that 5"nyn
is equivalent to *P5°>r. Our MmdOIN explains it differently.

MooIN asks:
— 94N ]’Q’bh‘l oVN ON ]’9’5!15 37 YN 9NN ON)

And if you will say; in what manner is a 7°17777 2"V 71nn similar to 199°n?

Is it because 127911 are returned to the original owner just as by a 2"nyn, but this
is not so -
— 09191 NY VAN INT (3,nm 97 PAMYN PID 029932 9N 1NN 1P9%HNa NN

For concerning 799%%n itself (it is) WX 27 who rules in 92 29771 noon
Ponww that if the recipient of the 1°9°91 seized the 19°%1 as his own it is a
proper seizure and he may keep it. It is evident that 1°2°511, which must not be returned,

is different from a 9"ny» which must be returned. What, therefore, does the X713 mean
that "nyn is not effective by a woman since a woman is not acquired with 1°9°511?!

N1B0IN answers:
— PYITH NN KT XID 1339799 *NIN 199N INDT NN 135399 AN

And it is the view of the >''1 that 2"»y» is not 1°2%%1 and it is only j337»
that 5"nvn is not an effective 1"@17°9 and the reason is -
— 3127 PPOYIN PP 231 POYYN INNY BN TITY *2Y
Because the universal custom is to return the °2°®1n and this "nvn is
therefore similar to 991 because it is also returned -
— 9N PYITPY 1929 111PPAN 72950 19959N2 NP DUN 91291Y SHIN)
And people will mistakenly come to say that a woman is acquired with

129, therefore the 3339 nullified the 27°p from her, and declared the
WP of 9"nvn to be invalid.

moDIN proves his point that 5"nyn is not actually 1°9°5m:
— 199590 AW ¥YaVN PPN NN NN INRNA NIP TNIN 99193 997 19999ND INT Y19

! See the X713 on X,3 and the nvoIN there TwX1 7" for a full explanation why a woman is not 1°9°%1m2 nwTPn.
% See XX 7"7 "1 who sates 17T 72 TMR KOR KT 1TI0 1IPD 0T 1900 K.
3 Therefore if one gave a woman TY17°p o3 as a ?"nyn it would be a valid Rn»IRT) PRITR.
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You can know that 5"nyn is not actually 12°%m, for if 5"nvn is similar to
199517 then by a sale how does he acquire the item with this 73 that he is
giving the seller as a 2"nyn, since we know that a coin cannot be utilized
for ovon.’

mooin offers an additional; proof that 5"nyn is distinct from 19¥9m:
11°9%9N0 XY S25519 DY9PY /N G0 XYM PP99DNA %79 992 NN NNIY 12N 1192 1)

And similarly by 2"7775 when he gave the 172 the 2°v%0 wnr as a ?"nyn, why
should his son be considered redeemed with this assumed 2%%m, for it is
written in the 770 that the father should give the 3775 five 2°9pw of no2, but

not °2°91. These two Mmx prove that 5"ayn is not considered 121 at all. We must
therefore say that the reason 2"nyn is ineffective by 1w17°p is because to people it appears
the equivalent of 10211 (since [customarily] they are both returned), and if we allow
PR by 2"nyn they will mistakenly also allow it with 1°9°97.

SUMMARY

PR with a 9"nyn is not valid 1312772 out of concern that people will
mistakenly validate 1217°p which are performed with a 1°9°91 11p, which
appears similar to 2"nyn.

THINKING IT OVER

If the o°non saw fit to annul the 1179 by 2"y because it can be confused
with 1991, why did they not also annul the sale and the 2"775 that was
performed with a "n¥n out of concern that people would do it also with
7on?’

* X2 previously said (as *wX 27 explains it) that if someone says here is a 272 2"y mn it is effective in a
sale. However if 2"nyn is considered 12°%n there is no 1°1p, since a ¥2un cannot function as 19°%m.

> See 2, n'"a.

6 The 109 in 0,7 (ﬂ'1|7) 92772 states concerning a 07X 702 that "N D’bPW NWwin H02 797v2 "1 1Mo,

7 See X"wmn.
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